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Please answer the following questions in English.

1. Please define and compare language planning in status planning, corpus planning, acquisition
planning and prestige planning.

2. Cost-benefit analysis has been widely adopted for language planning in the 1960°s anﬁ,@s.

Could you please point out both advantages and disadvantages of this approach ing to
the following outline? ~N
2N
Input Output Consequences of Output
1. Teaching of languages 3. Knowledge of LWC 5. Effectivity of central 8. National unity

= administration in country
Costs

2. Costs to the pupils 4. Knowledge of NL 6. Effectivity i ord»‘nary 9. Equal possibilities
being taught trade relations with to all inhabitants

other countries in the country

7. Education and contacts 10. National cultures
with world technology
and culture

11. Development of
standard of living

NL=One national language
LWC=Language of Wider Communication

Figure 1: Outline for cost-benefit analysis.
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3. What s hy] ection in Labov’s research? Please analyze it by raising some examples.



